
2 x M6 x16 mm

Montageaanwijzing/Assembly instructions/Instructions de montage

CACACACACAT 1 / CAT 1 / CAT 1 / CAT 1 / CAT 1 / CAT 1ST 1ST 1ST 1ST 1S
1 4

75

12 13

6 8

14

9

43801/1109

a. b.

 (M6)

11

60 mm

10

(M6 x 16 mm)

M6 x 16 mm

a+b

Nm 8

 1 x

1615

1.

2.

Nm 8

17

klick!

5 mmSW 10

18

Achtung!

Bedienungsanleitung an

Endverbraucher weiterleiten!

2 3
a+b
Nm 8

 2 x M6 x 20

M o n t a g e a n l e i t u n gM o n t a g e a n l e i t u n gM o n t a g e a n l e i t u n gM o n t a g e a n l e i t u n gM o n t a g e a n l e i t u n g


